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[ach theory paper will have 9 questions, oui of which a student has to attlempt 5 questions and the
question No. | will be compulsory. The question No. 1 will carry 20 marks and will be of short type of

questions with a limit of 20 words.

No supplementary answer book will be given to any candidate. Hence the candidates should write the
answer precisely in the main answer book only.
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should not be answered at difterent places in the answer-book .

Werite short answers for the following : 10x2=20
(a) Whatare caspases?

(b) Differentiate betrween cytosol and cytoplasm.

(¢) Define gene expression.

(d) Write two features of the chloroplast genome.

(e) Whatisthe principle of FISH?
(1) Whatare microfilaments and microtubule smade?

(g) Whatisthe function of nucleolus ?

(h) Whatisamembrane receptor and where isit located?

(i) InadsDNA30% adenineispresent. What is the percentage of other nitrogenous bases ?

() Write two functions of golgybody.

UNIT - |

Write structure and functions of the following : 10+10=20
(1) Cellwall

(i1) Plasmodesmata .
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OR

2 Discussthe various models of cell membrane structure.

UNIT - II
5. Whatare genetic markers  Deseribe the principle, method and applicatons of RFLP.
OR
Explain the following:
(@) Nuclear pore structure
(b) Splicing
UNIT - I
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OR
Write short notes on the following
» (@) Organization ol oy toskeleton
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UNIT -1V
5. Write short notes on the following
(a) Confocol microscopy
OR
Explain the role of cyclins and cyclin-dependent kinases in cell division.
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